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B EFAnLFEERM
> BEE%40FERE 8.9 H/kWh
> BEER40ERBB 6.3 H/kWh
> #E% 8.9 F/kWh
B REFAOSFREICHESIFEERREILEIC T HE N S B
S BB TSI E+COMEE
(1) AR 4.2+ 2.8 = 7.0 H/kWh (#=#LIZ 127 EkWh/E £T)
(2) LNG 8.4+ 1.2 = 9.6 F/kWh (#Z=#LI% 1,352 EkWh/E £T)
(3) &M 18.8 + 2.5 =21.3 F/kWh (¥ EHLIX 2,194 EXWh/EFE £T)
> RIS REHEM
» LNG 11.0 ®/kWh
B FILETHEFHOERMEIUR
< BERHEARAADENGS
» BRE 26 H/kWhXxBRENE ICKVERBORBIRAZETE

> BERBERNRATNIEGES
> MREBEMIASEHNEXHRCETONDER 8.9—1.4 = 7.5 H/kWh Z[EIX
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B JXNFRIEZOFHEE
SEFLE eEEEZELY

ERE 2.6 2.6
BEiEE 3.1 3.1
YA 7J)LaRk 1.4 1.0
EMMHEEXE 0.2 0.2
BRRE 1.1 1.1
BEHYRIADREE A 0.5 0.5

it 8.9 8.5

B 2EEBEASALTETEIET, 0.4 HEAKWhOTIRAMET

B AOEEEGROREEMI. EXRELXRET 6.3 H/kWh(s2eE
i)
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